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Name

II LESSON 8.4

Multiplication Table Through 12
Vocabulary

Complete the sentence.

1. A is the product of
a given number and another whole
number.

(0\1\2\3\4\s\sh\ab\w\n\u)
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Use the multiplication table to find the
product or quotient.

12|18 |24 (30|36 |42|48|54|60 66|72
14| 21|28(35(42|49|56|63|70|77 |84
16|24|32(40(48 |56 |64|72|80|88|96
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9 |18|27|36|45|54[63|72|81|90|99|108
2 40 _4 3 5 X 10 10|20/ 30|40|50|60|70|80|90{100|110(120
: : L 11(22|33(44|55(66|77(88(99(110(121|132
&/ 1224|36|48|60|72|84|96(108(120(132 144/
4.70 - 10 5.110 = 10 6.11 =1 7.10 X 8
8.7 X 12 9.108 = 9 10. 11 X 5 11. 36 = 3

Find the value of the variable.

12.30 ~ 10 =t 13.121 +y=11 14.80+8=h 15.n X 12 = 48

16. What are the multiples of 8 shown in the table?

Mixed Review

17. In 7,894,132, what digit is in the
ten thousands place?

19. Find the median.
15, 18, 22, 11, 20, 20, 13

21. (14 — 8) + 17 =

23. (15 + 15) — (12 + 2) =

18. Round 639 to the nearest ten.

20. Find the mode.
15, 18, 22, 11, 20, 20, 13

22.36 — (3 +9) =

24. (17 — 6) + (42 — 17) =
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Name

Multiplication Table Through 12

Vocabulary
Complete the sentence. (e [+ 23T« s]sT7[e[s[w[n]u]
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1. A ___multiple  js the product of B SRR R AR LR ARARARA LA RN
- [2][0]2]4]6]8[10]12]14]16]18|20]22]24
a given number and another whole [3[[0]3]6]9]2)15[w[2]24)27]30]33]36
aflo]a|s]12]16|20]24]28[32|36]40]44]48
number. E 0| 5[10]15]20]25]30]3540[45|50]55]60
.. . . 6|/ 0] 6|12]18]24|30|36]42]48]54|60]66] 72
Use the multiplication table to find the o T Ta T2 Tas 35 Taa a0 o6 e a0 o7 o
product or quotient. |8 {[ 0] 816]24]32]40]48]56|64|72]80]88] 96
19 |[o]9]18]27]36]45]54]63]72]81]90]99 108
2.40 = 4 3.5 X 10 E 0| 10]20]30]40]50] 60| 70| 80] 90[100[ 110120
: : [11]| 0] 11)22] 33|44 55| 66|77 88| 99 |110|121] 132
10 50 12){ 0 | 12|24 36| 48 60| 72 | 84| 96[108/120[132 144
4.70 + 10 5.110 = 10 6. 11 -1 7.10 X 8
Is 11 11 80
8.7 X 12 9.108 = 9 10.11 X 5 11.36 + 3
84 12 55 12

Find the value of the variable.

12.30 - 10 =1t 13.121 ~y=11 14.80+8=h 15.n X 12 =48
t=3 y =11 h =10 n=4

16. What are the multiples of 8 shown in the table?
0, 8, 16, 24, 32, 40, 48, 56, 64, 72, 80, 88, 96

Mixed Review

17. In 7,894,132, what digit is in the 18. Round 639 to the nearest ten.
ten thousands place?

9 640
19. Find the median. 20. Find the mode.
15, 18, 22, 11, 20, 20, 13 15, 18, 22, 11, 20, 20, 13
18 20
21. (14 — 8) + 17 = _ 23 22.36 — (3+9)=_24
23. (15 + 15) — (12 + 2) = _16 24. (17 — 6) + (42 — 17) = _36
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